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1. Write the output of the following M-file

a)

for 1=100:-10:10
x=i72;

end

s=x+1;

disp(s)

b)

a=2;b=3;c=5;

if a==(b+c)
disp('a")

elseif b==(a+c)
disp('b")

else

disp('c")

end

following series:

II. Write a MATLAB function to compute the summation of the
1 1 1 1
P= 3 + S + o + 7 + -

1

50!

(15 marks) |

Y

Best Wishes
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Assiut University
Faculty of Science
First Semester Final Examination
(January 2016)

TR L oo
Subject: English Language T Code: 015UR

Students: Industrial Chemistry Time Allowed: 2 hours

i

General Instructions:
¢ The exam booklet consists of seven pages.
¢ Do not write your name inside the exam booklet.
¢ Do not give more than one answer to each question.
+

Do not use pencil or red pen.

1. Write a paragraph on ONE of the following topics. (10 Marks)
1. Studying a foreign language.

2. Living in the city.

3. The importance of chemistry in industry.

- The paragraph entitled:
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IL. Read the text below and then answer the following questions. (10 Marks)
Dear Editor,

I read your article about the difference between life in the city and that in the
countryside; and I am writing to tell you and the readers why I disagree with you.

[ was born in London and grew up there. I know this city very well. I also know
some countryside in England very well thanks to my job. These days I am working
in the countryside, south of England. My company sent me here a few months ago.
That’s why I believe I have an interesting opinion to give you about this topic.

Many people believe that life in the countryside is much better than in the city. well,
they are wrong. Living in the countryside is really difficult. Last week, for example,
[ wanted to go out at night but I couldn’t. T here’s nowhere to go to enjoy oneself.
Another thing is that one of my colleagues fell sick and it was difficult to find an
ambulance at night. It took us more than three hours to get to the nearest hospital.

You also said that people in the city are not as nice as those in the countryside. This
is another wrong idea. People are the same everywhere. They are nice to you if you
are nice to them.

Another misconception is about pollution. The countryside is not wholly clean. The
air we breathe is not as fresh as you said. Did you know that many factories exist in
many villages? The authorities believe that it’s a solution to the problem of

Jjoblessness.

T hope you will publish this email in your next issue. Concerning the topic to discuss
next time, I suggest the following: “How canwe make life in the city much better?”

Sincerely yours,
James Wade.

A. The purpose of the writer is:
1. to agree with the editor.

2. to disagree with the editor.

3. to discuss a new problem.

B. Are the following statements TRUE or FALSE?

1. The writer is in the countryside on holiday. ( )
2. The writer and his colleague could not find an ambulance easily.  ( )
3. According to the writer, there is no pollution in the countryside. ( )
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C. Answer the following questions from the text:

1. Why does the writer know the countryside very well?
e

2. Find out two reasons why life in the countryside is difficult.

3. What does the editor think about people in the countryside?
e

D. What do the following words refer to in the text?

1. You (paragraph 1)
2. Here (paragraph 2)

3. Them (paragraph 4)

IIL Underline the error in the following sentences and then correct it.
(20 Marks)

1. It’s hard to find time to study. With all of my other work.
s
e

2. We got home early. Because we left early.

-

[ S

3.1 was running as fast as I could. Hoping to get there on time.
e el e
4. Cheri got underneath the car. To change the oil.
e
-
5.1 am taking several classes this semester. Such as English, history, and math.

6.1 enjoy watching scary movies. For example Dawn of the Dead and the Friday
the 13" movies.

S
- O O O O OO
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7. Exercising is important it can keep your weight down.

3. She had a sore throat she was running a fever.

e

-

9. She started feeling bad on Monday, by Wednesday, she was running a high fever.

/,/_7__,_._—

- OO O O OO

10. His job paid well, however, he still couldn’t make ends meet.

T S

e

V. Read and choose the best answer to the questions. (10 Marks)

(1) Bxperienced truck drivers often travel in a convoy--a group of trucks that are
traveling to the same part of the country. Convoys can help truckers to stay alert.

The author implies that professional long-distance truck drivers may avoid
traveling alone because:

A) They might drive too fast.

B) They want to arrive before anyone else.

C) Accidents happen more frequently to lone truck drivers than to car drivers who
travel alone.

D) Long-distance travel can cause drowsiness.

(2) Huge beasts such as the dinosaur have never really become extinct. Mothra, a
giant caterpillar who later becomes a moth, destroys Tokyo, and stars in the 1962
Japanese film named for him. Mothra is born, dies, and reborn regularly on classic
movie channels. In Japan Mothra is one of the most popular films ever made.
Mothra has survived the creation of more current scary creatures such as giant apes,
extraterrestrial beings and swamp creatures. More than 30 years after his creation,

Mothra still lives.

The main subject of the passage is:

A) the reasons that fads do not endure

B) the lasting appeal of Mothra

C) the difficulty of marketing good horror movies

D) old models for creatures are otill used because making new monsters is

expensive
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3)

- Public speaking is very different from everyday conversation.

_ First of all, public speeches are much more structured than a typical informal
discussion.

How are these sentences related?

A) Sentence two offers support for the statement made in the first sentence.
B) Sentence two contradicts the statement made in the first sentence.

C) Sentence two shows an exception to the first sentence.

D) Sentence two compares two kinds of speeches.

(4) Many people who have come close to death from drowning, cardiac arrest or
other causes have described near-death experiences-—profound, subjective events
that sometimes result in dramatic changes in values, beliefs, behavior, and attitudes
toward life and death. These experiences often include a new clarity of thinking, a
feeling of well being, a sense of being out of the body, and visions of bright light or
mystical encounters. Such experiences have been reported by an estimated 30 to 40
percent of hospital patients who were revived after coming close to death and about
5 percent of adult Americans in a nationwide poll. Near-death experiences have
been explained as a response to a perceived threat of death (a psychological theory);
as a result of biological states that accompany the process of dying (a physiological
theory); and as a foretaste of an actual state of bliss after death (a transcendental

theory).

The primary purpose of this passage is to:
A) entertain

B) persuade

C) inform

D) express disbelief in the afterlife )

(3)

_ Sometimes when we don't get enough sleep we become very short-tempered.
- Tt is important to set a time to go to bed that is realistic.

~ How are these two sentences related?
A) The first sentence explains the meaning of the second.
B) The second sentence explains why 2 lack of sleep affects us.
C) The second sentence proposes a solution.
D) The second sentence contradicts the first.
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6)
- Most people collect Star Wars toys for sentimental reasons.

- Some people collect them strictly to make money.

What is the relationship between the two sentences?
A) cause and effect

B) contrast

C) repetition

D) statement & example

(7) There are two kinds of jewelry that I do. There is commercial jewelry--class
rings, necklaces, the kinds of things most people wear. I sell these items to meet my
expenses for raw materials, supplies, and to make my living. The other, more
creative work I do makes me feel that I am developing as a craftsperson.

The author of this passage implies that:

A) Artists are poor.
B) There is no market for creative work.
C) Commercial and creative work fulfills different needs for the artist.

D) Rings and necklaces cannot be creative.

®

- Jenny does not like cake.

_ She does not like to bake it, to ice it, or to eat it.

‘What does the second sentence ;io'?

A) It states the cause of the first.

B) It compares the three things Jenny does not like about cake.

C) It draws a conclusion about Jenny.
D) It emphasizes what is stated in the first.

©®)
_ When we write a check that we know is going to Obounce, [ we are in fact
performing a criminal act.

_Ttis a crime to knowingly write a Dhot(l check, one we know we don't have
sufficient funds to cover.

What does the second statement do?
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A) It provides supporting evidence for the first statement.
B) It restates the central idea of the first sentence.

C) It draws a conclusion from the first sentence.

D) It provides a contradictory point of view.

(10)

- The new Dance Tunes CD has proved to be very popular.
_ It has sold 80,000 copies over the last year.

How are these two sentences related?
A) The first sentence explains the meaning of the second
B) The second sentence provides evidence of the first.

C) The second sentence explains why the CD is popular.
D) The first sentence contradicts the second.

(Best Wishes)
Or. Marwa Mostafa Abdelmotaleb
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1) Use mathematical induction to prove the following relation: 4\(5” -1 ) ,VneN
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v 13x4+2 to its simple fractions and use

binomial theorem to write the first four terms for every fraction.

2) Resolving the fraction

1, 1x3 , 1x3x5 _ R
3) Prove that: 1+ +3><6+3><6x9 .fow=43

Qo

= 03
4) Test for convergence the following series: Z (_ 1) .
5) Solve the following system : 5x =4z =1, 2z-3y=2, x-y+z= 0

1
6) Find the domain of the functions: f)=x-2, g(X):x e (gOf)(x)_

Olimee— (i) lim A%
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N Final Exam for Level 1 Mathematics Dept.

oi Subject: Computer Science MC100 Faculty of Science
——— Time: 2 Hours Assiut University

15t Term 2015/2016
Date: January, 11, 2016

Answer the Following Questions: (50 marks)

Q1. |(10 marks) !

Choose the correct answer :

1) Given the matrix input in Matlab A =[157; 2 6 4; 3 8 2|, which
value is referenced by A(3,2)?
a) 8 b)4 )6 47

2) Letx =[2 5 1 6]. How can we compute the square root of each
element

a) square(x) b)xA(1/2)  c)[1.42.21 sqrt(6)] d) x7(1/2)

3) Which one creates a vector of the even whole numbers between
31 and 75.

a) 32:2:75 b)31:75,2 0)31,33,...75 d)31-75/2

4) Which of the following is a valid function header?
a) function = fx(input)
b) function retl, ret2 = fx(input)
¢) function ret = fx(34)
d) function fx

5) Which Matlab command is usually used to repeat a set of
commands a known number of times?
a) If b) for ¢ ) while d) repeat

6) Letx=[3268]andy=[4135]. What s the result of x'.*y
a)72
b) [34 21 63 85]
c) ??? Error using ==> times Matrix dimensions must agree.

d)48
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for the 3 marks.

| Draw a flowchart and write an algorithm that reads information about
30 students. The information are the student number N, and his 3 marks
M1, M2, M3. Then for each student, print his number and his average

(10 marks)

o
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Q3. (15 marks)
3.1 Write a MATLAB function that computes and prints 15 elements
of the matrix X where

LX) =0, X()=2XG-1+1, i=234,.,15

i 3.2 Find and Correct the errors in the following MATLAB codes

|

E a) b)

| | function ff]ss] p=1;
s=0; for k=1:10:3
fac=1; p=p*k
for i=1;100 disp"P"

I s=s+i; stop
fac=fac*b;

| end
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